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Anarysis of unsymetry catenary for left to right
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z=v-x - To™' cosh z (cosh z)-4 |z '(cosh z-1) y-x '
2=0.1 1.0056 0.0050 0.0500 0.0500
2=0.2 1.0210 0.0210 0.10500 0.10500
2=0.3 1.0453 0.0453 0.15100 0.15100
2=0.4 1.0811 0.0811 0.20275 0.20275
2=0.5 1.1276 10.1276 0.2552 0.2552
2=0.6 1.1885 0.1885 0.314167 0.314167
2=0.7 1.2552 0.2553 0.3645714 0.3645714
2=0.8 1.3374 0.3374 0.42175 0.42175
2=0.9 1.4331 0.4331 0.481222 0.481222
z=1.0 1.5431 0.5431 0.54300 0.54300
2=0.28 1.0395 0.0395 0.1410 0.1410
z=1.1 1.6685 0.6685 0.6077727 0.6077727
2=1.2 1.8770 0.8170 0.6808333 0.6808333
2=1.3 1.9709 0.9709 0.7468462 0.7468462
z=1.4 2.1509 1.1509 0.8220714 0.8220714
z=1.5 2.3524 1.3524 0.901600 0.901600
z=1.6 2.5775 1.5775 0.9859375 0.9859375
2=1.7 2.8283 1.8283 1.075471 1.075471
z=1.8 3.1075 2.1075 1.170833 1.170833
z=1.9 3.4177 2.4117 1.272474 1.272474
2=2.0 3.7622 2.7622 1.381100 1.381100

§3.

e =1llcnDEf
e =12cnDE
To=18.26087

To=17.1875,

sTEH#| g =33cm,y=13.5¢cnm, 1 =3.75cm, w = 1DHEF
e =11.5cmnDFF To=18.254

T0=20.0 x. yiIZ2WTHEHE To=19.046&To=18.702

% e =11.618cm , x =21.382cn
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